
Решаем 
задачи.



Задача № 1

12 6
? м.

12 м. 6 б.

? м.

12 + 6 = 18(м)
Ответ: 18 машинок.



Задача № 2.

10 птиц

? л.

? л 6 
г.

10 п.
10 - 6 = 4(л.)
Ответ: 4 лебедя.



Задача № 3

Сколько всего?
5 ёл. 10 к.

? д.

5 + 10 = 15(д)
Ответ: 15 деревьев.



Задача № 4.

Сколько осталось?

9 р.
3 р. ? р.

9 – 3 = 6 (р)
Ответ: 6 рыбок.



Задача № 5.

• Золушка посадила 12 белых роз и 7 
красных роз. Сколько всего роз 
посадила Золушка?

12 б. 7 к.

? р.

12 + 7 = 19(р)
Ответ: 19 роз всего.



Задача № 6.

Сколько маков?
? м.8 ф.

18 ц.
18 – 8 = 10 (ц)
Ответ: 10 цветов.



Задача № 7.
Сколько всего зверей?



4 з. 5 в.
? зв.

4 + 5 = 9 (зв)
Ответ: 9 зверей.



Задача № 8.

16 л.

4 л. ? л.

20 – 4 = 16 (л)
Ответ: 16 лягушат.


